Attendance Quiz – MATH1530 – April 9, 2009

1.  Find the margin of error when Z* is 1.2, mu is 50 and n = 100.

(A) 7


(B) 60

(C)  6

(D)  70

2.  An opinion poll says that the result of their latest sample has a margin of error of plus or minus three percentage points.  This means that

(A)  we can be certain that the poll result is within three percentage points of the truth about the population.

(B)  we could be certain that the poll result is within three percentage points of the truth if there were no nonresponse.

(C)  the poll used a method that gives a result within three percentage points of the truth in 95% of all samples.

(D)  we are uncertain about that poll result due to lack of information.
